RESEARCH

Check for updates

Frailty detection in older adults via fractal analysis of acceleration signals from wrist-worn sensors

Antonio Cobo^{1,2*†}, Ángel Rodríguez-Laso^{3†}, Elena Villalba-Mora^{1,2}, Rodrigo Pérez-Rodríguez^{4,5} and Leocadio Rodríguez-Mañas^{3,6}

Abstract

Purpose: Frailty is a reversible multidimensional syndrome that puts older people at a high risk of adverse health outcomes. It has been proposed to emerge from the dysregulation of the complex system dynamics of physiologic control systems. We propose the analysis of the fractal complexity of hand movements as a new method to detect frailty in older adults.

Methods: FRAIL scale and Fried's phenotype scores were calculated for 1209 subjects—72.4 (5.2) y.o. 569 women and 1279 subjects—72.6 (5.3) y.o. 604 women—in the pubicly available NHANES 2011–2014 data set, respectively. The fractal complexity of their hand movements was assessed with a detrended fluctuation analysis (DFA) of their accelerometry records and a logistic regression model for frailty detection was fit.

Results: Goodness-of-fit to a power law was excellent ($R^2 > 0.98$). The association between complexity loss and frailty level was significant, Kruskal–Wallis test (df = 2, Chisq = 27.545, p-value < 0.001). The AUC of the logistic classifier was moderate (AUC with complexity = 0.69 vs. AUC without complexity = 0.67).

Conclusion: Frailty can be characterized in this data set with the Fried phenotype. Non-dominant hand movements in free-living conditions are fractal processes regardless of age or frailty level and its complexity can be quantified with the exponent of a power law. Higher levels of complexity loss are associated with higher levels of frailty. This association is not strong enough to justify the use of complexity loss after adjusting for sex, age, and multimorbidity.

Keywords: Frailty syndrome, Unobtrusive monitoring, Fractal analysis, Time series, Accelerometry, Smartwatch

Introduction

Data from the World Bank for 2019 show that 92.29% of the women and 84.68% of the men in the European Union (EU) survived to age 65 [1, 2]. According to current predictions, they will live for approximately 20 more years (21.8 years, in the case of women and 18.3 years, in the case of men) [3]. The World Health Organization defines healthy aging as "the process of developing and

[†]Antonio Cobo and Ángel Rodríguez-Laso have contributed equally to this work.

*Correspondence: antonio.cobo@ctb.upm.es

¹ Centre for Biomedical Technology, Universidad Politécnica de Madrid, Autopista M-40 km. 38, 28223 Pozuelo de Alarcón, Madrid, Spain Full list of author information is available at the end of the article maintaining the functional ability that enables well-being in older age" ([4], p. 28). In other words, healthy aging involves remaining free of functional limitations and disability until very close to the end of life. However, according to current predictions, people 65 years old will enjoy only half of their 20 years ahead without functional limitations and disability. This scenario concerns 91,496,893 people 65 years old and older in the EU [5], representing 20.46% of the overall European population [6]. Before developing any severe functional limitations and becoming disabled, older people may transition from robustness to a state of increased vulnerability known as frailty that can last for several years before eventually transitioning into disability [7]. Frailty is a multidimensional syndrome

© The Author(s) 2023. **Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

that makes homeostasis difficult even under exposure to low power stressors [8]. Consequently, frail people are at a high risk of adverse outcomes, including twice the risk of disability than non-frail older adults [9], as well as falls, hospitalization, permanent institutionalization, and death [8, 10-12]. Besides its detrimental effect on people's functional ability and health, frailty also impacts health care systems economies. In 2012, frail people in the top 10% group of Medicare individual spending beneficiaries were just 4% of the Medicare population in the USA. Despite they represented such a small proportion of the population, they accounted for 43.9% of the total potentially preventable spending [13]. Frailty is a well established concept in geriatrics, however, there is still some debate on how to conceptualize it [14]. One of the most validated and used approaches is the frailty phenotype, initially described by Fried et al. [7], which considers that frailty is manifested through five pre-defined signs and symptoms: exhaustion; wasting; and reduction of activity, strength and speed. Because some of these components need to be measured, one with a dynamometer, attempts have been made to use questions to ascertain even those designed to be measured; one of these questionnaires is the FRAIL scale [15]. Fortunately, frailty, in contrast to a disability, can be reversed [16–18]. Clinical interventions based on physical exercise proved to be effective in restoring frail people to robustness [16, 17, 19]. These exercise-based interventions are particularly effective if delivered at the early stages of the functional decline process and if the older adult remains engaged in the care program [20]. Thus, identifying frail people at early stages is paramount. Some authors suggest that frailty is an emergent property with no specific cause, arising from the complex system dynamics of physiologic control systems [21]. This hypothesis is consistent with the fact that dysregulation signs in so many different physiologic systems have shown associations with frailty. Ghachem et al. [21] even observed the amount of dysregulation to be more important than the particular identity of the systems involved. As a result, people's ability to adapt to daily stressors degrades and functional decline arises [22]. Rector et al. [23] highlight two different paradigms that model the adaptive behaviors of physiological systems, namely, critical slowing down (CSD) and loss of complexity (LoC). Either of these paradigms makes a different assumption. CSD-based indicators model resilient, adaptive responses as low variability fluctuations around an equilibrium point, whereas LoC-based indicators model resilient adaptability as complex fluctuations following a power law across time scales like fractals do [22, 24]. The appropriate paradigm may depend on the homeostatic role of the target variable-i.e., regulated vs. effector variables-with effector variables behaving consistently with the LoC paradigm [23]. The complexity of the dynamic fractal behavior of many effector variables has in fact been observed to degrade with aging and disease [22]. For instance, LoC under normal aging conditions has been observed in heart rate (HR) [25], blood pressure [26], respiratory cycle [27], stride interval [28], and postural sway dynamics [29, 30]. Besides, less complex HR showed increased cardiovascular mortality in heart failure and ischemic heart disease patients [31], and older fallers showed less complex stride-stride intervals [32]. Moreover, greater complexity values have been observed to be associated to greater ability to perform adaptive tasks [22]. The overall effect of the progression of frailty and the subsequent functional decline is the degradation of people's ability to keep on with their activities of daily living (ADLs). Hence, we wonder whether dysregulation in behavioral variables, such as physical activity (PA), can be used as a proxy for the overall dysregulation in physiologic control systems. Previous works on the complexity of PA suggest this variable behaves consistently with the LoC paradigm (i.e., complexity decreases in the presence of frailty). In several cross-sectional studies, older people with more complex PA patterns have shown lower levels of frailty [23], disability [23], and fear of falling [33]. In contrast, older people with high variance in PA have not shown high levels of frailty and disability, as would have been expected under the CSD paradigm [23]. In the same line, older people with less complex PA patterns at baseline have shown a higher risk of becoming frail and disabled [34] or even dying [34, 35] in follow-up studies. There is even evidence of a significant correlation between longitudinal changes in the complexity scores of PA and changes in balance and mobility performance after 4 weeks of homebased physical exercise [36]. In particular, Rector et al. [23] quantified PA complexity as the multiscale entropy (MSE) of the acceleration time series recorded by an Inertial Measurement Unit (IMU) on people's chests. IMUs are a kind of sensors comprising an accelerometer and a gyroscope, which measure linear acceleration and angular speed, respectively. Then, the fluctuations of PA over time can be represented as a time series of activity counts [37]. Samples in a time series of activity counts are usually defined as the sum of raw acceleration values over epochs of a particular duration after removing frequency components outside the human movement spectrum [37]. IMUs based on Micro-Electromechanical Systems (MEMS) are tiny enough to come embedded in usual commercial devices such as smartphones, smartwatches, and fitness trackers. Lately, wrist-worn devices such as smartwatches and fitness trackers have consolidated their place as consumer goods and are a much more natural and socially accepted option than wearing sensors on the

chest or on a belt around the waist. However, people move their arms and hands even during the course of sedentary activities. Thus, it is unclear whether time series of acceleration or activity counts from wrist-worn devices are a proper representation of people's PA. Despite that, Li et al. [34] found a relationship between the complexity of people's non-dominant hand movements and the future onset of frailty. They observed that people with lower complexity scores at baseline had a higher risk of becoming frail over the next years. However, the potential use of hand-movement complexity to assess and diagnose the present level of frailty in older adults has not been explored yet. In the present paper we study whether the LoCin the fluctuations of the activity counts from wrist-worn sensors is capable of detecting frailty. We obtained the self-similarity exponent (α) of the hand-movement signals by means of a detrended fluctuation analysis (DFA) which is a common method for non-stationary time series [35, 38]. A value of $\alpha = 1$ corresponds to pink noise, which has been observed in many natural phenomena showing fractal behaviors [39]. In fact, values of α close to 1.0 have been observed to reflect healthy fractal complexity in HR signals [24]. As the value of α decreases, the long range correlations in the corresponding stochastic processes tend to disappear until their samples become completely uncorrelated (white noise) for $\alpha = 0.5$. On the other hand, as the value of α increases, the corresponding stochastic processes lose roughness and become Brownian noise for $\alpha = 1.5$; which means that departures from pink noise in either direction are associated to complexity loss. Thus, we used the departures from pink noise in α as a measurement of complexity loss in hand-movement fluctuations.

Methods

We conducted a retrospective observational crosssectional study on data from the National Health and Nutrition Examination Survey (NHANES). This survey is a program of studies designed to assess the health and nutritional status of adults and children in the United States [40]. It examines a nationally representative sample of about 5000 civilian, non-institutionalized persons each year [40]. Most of the data set is in the public domain and is available on the Internet. This is a retrospective study of anonymized data in the public domain, and no ethical approval was required.

Participants

Subjects in the 2011–2014 NHANES waves were included in the present study if they:

• met ALL the following INCLUSION CRITERIA:

- subjects 20 years old or older,
- subjects with available data from the Physical Activity Monitor (PAM) in the summary data files, and
- subjects wearing the PAM on their non-dominant hand,
- did not meet ANY of the following EXCLUSION CRI-TERIA:
- subjects with less than 2 days of valid PAM data,
- subjects without enough data to compute their frailty score,
- subjects with a history of stroke, and
- subjects taking antidepressants, antiparkinsonian drugs, or acetylcholinesterase inhibitors.

Apparatus

NHANES 2011-2014 relied on wrist-worn PAMs to collect PA information (CDC, 2020). In particular, they used the ActiGraph model GT3X+, manufactured by ActiGraph of Pensacola, FL [40]. NHANES participants over 3 y.o. were asked to wear the PAM for seven consecutive days to collect objective information on 24-h movement when awake and asleep [40]. In particular we used data from the Physical Activity Monitor-Header (PAMHD) and Physical Activity Monitor-Day (PAX-DAY) data files to test the inclusion criteria; and we used the triaxial acceleration measurements summarized at the minute level in the Physical Activity Monitor-Minute (PAXMIN) data file to compute PA complexity. NHANES 2011-2014 reports them in Monitor-Independent Movement Summary (MIMS) units, "which is a non-proprietary, open-source, device-independent universal summary metric developed by researchers at Northeastern University (John et al. 2019)".

On the other hand, NHANES 2011-2014 relied on examination tests and responses to different questionnaires to collect functional information [40]. Some of them were conducted during enrollment in a controlled environment in a mobile examination center (MEC) while some others were conducted during an interview in the subjects' homes. In particular, we used data from the Demographics Data (DEMO), Body Measures Data (BMX), Muscle strength-Grip test Data (MGX), Mental Health-Depression screener Questionnaire (DPQ), the Physical Functioning Questionnaire (PFQ), Physical Activity Questionnaire (PAQ), the Blood Pressure & Cholesterol Questionnaire (BPQ), the Diabetes Questionnaire (DIQ), the Medical Conditions Questionnaire (MCQ), the Kidney Conditions-Urology Questionnaire (KIQ_U), and the Weight History Questionnaire (WHQ),

Prescription Medication Questionnaire (RXQ_RX) and Muscle Strength Data (MSX).

Procedure

We used DFA to compute the self-similarity index (α) of the participants' non-dominant hand movements. We used the triaxial acceleration measurements summarized at the minute level to build a time series for each participant. In accordance with the methodology described by Raichlen et al., we considered as valid those days containing between 10 and 20 h of valid wake time [35]. Samples labeled as sleep, non-wear, or unknown as well as samples with reliability flags and missing MIMS values were removed from the data set. The remaining valid wake minutes across all valid days were combined in a single time series for each participant. As stated by Raichlen et al. [35], "Ma et al. (29) have shown that this method does not significantly alter the final results of the DFA analysis in time-series data sets." DFA was performed on each subject using the nonlinearTseries package in R version 4.1.2 [41] "with 25 window sizes ranging from 10 minutes to 7 hours in length". Then, we computed the Manhattan distance between α and 1 (i.e., $d = |1 - \alpha|$) as a measurement of complexity loss.

We appraised the participants' frailty status by assessing their frailty phenotype and scoring their FRAIL scale. Since data for neither of those scales were explicitly collected in NHANES 2011–2014, we mapped NHANES variables on to them. The mapping on to the items of the FRAIL scale was quite straightforward as described in Fig. 1. Individuals were classified as robust, if they did not score any item; prefrail, if they scored 1 or 2 items; and frail, if they scored 3 or more items.

In relation to the frailty phenotype, the loss of weight and the exhaustion items were calculated in the same fashion than for the FRAIL scale (with the addition that the loss of weight had to be unintentional). The grip strength item was calculated as the lowest quintile of the maximum strength measured with a handgrip dynamometer at three attempts in both hands (items MGXH1T1, MGXH1T2, MGXH1T3, MGXH2T1, MGXH2T2, MGXH2T3), for age (below and above 65 years old), sex and BMI (≤ 24 ; > 24, ≤ 26 ; > 26, ≤ 28 ; > 28) strata.

The presence of the PA item was defined as being in the lowest quintile of kilocalories expended per week according to a questionnaire based on the Global Physical Activity Questionnaire (GPAQ) of the WHO, which includes questions on number of days per week and minutes each day of daily activities, leisure time activities, and sedentary activities (items PAQ610, PAD615, PAQ625, PAD630, PAQ640, PAD645, PAQ655, PAD660, PAQ670, PAD675). Quintiles were calculated by strata of

FATIGUE	Frail-scale: "How much of the time during the past 4 weeks did you feel tired?"	NHANES "Over the last 2 weeks, how often hav you been bothered by feeling tired or having little energy?" (DPQ040)
Score = 1	All of the timemost of the time	 Nearly every day more than half the days
Score = 0	 Some of the time a little of the time none of the time 	Several daysnot at all
RESISTANCE	Frail-scale: "By yourself and not using aids, do you have any difficulty walking up 10 steps without resting?"	NHANES "By yourself and without using any special equipment, how much difficulty do you have walking up 10 steps without resting?" (PEO061C)
Score = 1	• Yes	Some difficulty much difficulty unable to do
Score = 0	• No	No difficulty
AMBULATION	Frail-scale: "By yourself and not using aids, do you have any difficulty walking several hundred yards?"	NHANES "By yourself and without using any special equipment, how much difficulty do you have walking for a quarter of a mile [that is about 2 or 3 block-12" (BCD061B)
Score = 1	• Yes	Some difficulty much difficulty unable to do
Score = 0	• No	No difficulty
ILNESSES	"Fail-scale: "Did a doctor ever tell you that you have [illness]?"	"Has a doctor or other health professional ever told you that you had [ilness]?"
List of illnesses	 Hypertension dlabetes CaRCer (durinkin cancer) chronic lung diseasee heart attack congestive heart failure angina asthma arthritis stroke kidney disease 	 (BPQ020) (D1Q010) (MCQ220) emphysema (MCQ160g) chronic branchitis (MCQ160g) (MCQ160b) (MCQ160b) (MCQ160b) (MCQ160b) (MCQ160d) (MCQ160d) (MCQ160a) (MCQ160f) (MCQ160f) (KLQ022)
Score = 1	 5 – 11 positive answers 0 4 positive answers 	 5 – 11 positive answers 0 4 positive answers
Score = 0	 0-4 positive answers 	 0 – 4 positive answers
LOSS OF WEIGHT	Frail-scale: "How much do you weigh with your clothes on but without shoes? [current weight]" "One year ago in (MO, YR), how much did you weigh without your shoes and with your clothes on? [weight 1 year ago]"	 NHANES How much do you weigh without clothes or shoes? (WHD020) How much did you weigh a year ago? (WHD050)
	percent loss = [[weight 1 year ago - current weight]/weight 1 year ago]] * 100.	- current mange = [[weight 1 year age - current weight]/weight 1 year ago]]* 100.
Score = 1	 Percent loss > 5 	 Percent loss > 5
10 March 10	Description of C	Descent lass of 5

age (below and above 65 years old) and sex. Actually, the worst quintile in all strata was 0 expenditure.

Gait speed, the last item of the frailty phenotype, was not measured in the NHANES 2011–2014, which nevertheless included questions on difficulty walking for a quarter of a mile (PFQ060B), walking up 10 steps without resting (PFQ060C) and walking from one room to another on the same level (PFQ060H; possible answers for all of them: no difficulty, some difficulty, much difficulty, unable to do). We used NHANES 2001-2002, which included these same questions and measured usual-pace gait speed at 20 ft. for individuals 50 years or older (the use of a walker or cane was permitted for the timed walk), to assess which of them detected better the lowest quintile of gait speed, stratified by age (below and above 65 years old), sex and height (below and above 173 and 159 cm for men and women, respectively). The combination of the answers having some or much difficulty and being unable to walk for a quarter of a mile, offered the best aggregate of accuracy (0.79 - 95% CI 0.77; 0.81), sensitivity (0.51-95% CI 0.45; 0.56) and specificity (0.85 -95% CI 0.83; 0.87). Taking away the category 'some difficulty' increased accuracy at the expense of diminishing sensitivity notably.

In the same fashion than for the FRAIL scale, individuals who did not score any items were considered robust; those who scored 1 or 2, prefrail; and those who scored 3 or more, frail.

Multimorbidity was measured as a count of ten conditions referred by the patient as having been diagnosed by a doctor: diabetes; coronary heart disease, including angina and heart attacks/myocardial infarction; congestive heart failure; ictus; asthma; chronic obstructive pulmonary disease, including emphysema and current chronic bronchitis; rheumatoid arthritis; current liver conditions; weak/failing kidneys; and cancer, up to four of them and including lymphomas and leukemias. The multimorbidity count was calculated even when up to three answers to individual conditions were missing.

Analysis

NHANES uses a complex, multistage probability design to sample the civilian, noninstitutionalized population residing nationwide in the U.S. (in the 50 states and D.C.) [40]. NHANES sampling weights and complex design were taken into account by using the survey package in R version 4.1.2. [41].

Fractal-like behavior

We tested the fractal-like behavior of the participants' hand movements by assessing the goodness-of-fit of their fluctuations across time scales to a power law. We estimated the linearity (\mathbb{R}^2) of the relationship between the logarithmic of the fluctuations and the values of the expected fitted line. Then we used the svymean function to estimate the mean value of \mathbb{R}^2 and the confint function to estimate its 95% confidence interval. Finally, we used a scatterplot to look for any relationships between goodness-of-fit and the value of self-similarity.

Associations between frailty and complexity loss

We tested the associations between frailty status and complexity loss with non-parametric Kruskal–Wallis tests instead of one-way ANOVA tests because the assumption of an unbounded outcome did not hold. We also used non-parametric Kruskal–Wallis tests with the Bonferroni correction for pairwise comparisons between frailty levels. We used the svyranktest function in the survey package to compute the Kruskal–Wallis tests and the p.adjust method to compute the Bonferroni correction.

Building the logistic regression models

We built two logistic regression models for people over 65 years old, with a binary outcome (robust = 0 vs. pre-frail/frail = 1) based on the frailty phenotype in one model and the FRAIL scale in the other one. We used age, sex, multimorbidity and complexity loss as candidate covariates.

We assessed the linearity of continuous covariates (complexity loss, age, and multimorbidity) and identified potential nonlinear transformations by visual inspection of their corresponding smoothed scatter plots [42] with the svysmooth function in the survey package. We fitted a bivariate model for each covariate, applying the corresponding nonlinear transformation when appropriate, and assessed the significance of their coefficients. We then fitted a model with sex and age as initial covariates and subsequently added multimorbidity and complexity loss one at a time. We assessed the significance of their coefficients and built our main effects models (FRAIL model and FRIED model) by retaining the significant ones.

We fitted the models with the svyglm function in the R survey package with a quasibinomial family. We tested the overall significance of all the coefficients in the models with multivariable Wald tests and multivariable modified Wald tests. We conducted the multivariable Wald tests with the wald.test function in the R aod package. We conducted the multivariable modified Wald tests by manually computing the F statistic as described by Hosmer et al. [43] and by using the pf function to compute the p-value.

We checked for interactions between complexity loss and each of the other covariates after centering the variables.

The results of the model building process are summarized in "Appendix".

Goodness of fit and predictive performance

We assessed goodness-of-fit with Archer and Lemeshow's extension of the decile of risk test for complex sample surveys [44]. We adapted the Si and Pritchard's working version of R code [45] to our use case according to Damico's suggestions [46]. We assessed the power of the test by evaluating the sample size and the frequency of the outcome according to Hosmer's et al. rule of thumb: $n \ge 500$ and $0.25 \le n1/n \le 0.75$ [47].

We assessed the predictive performance of the models by computing the area under their receiver operating characteristic curves (AUC) with the roc.curve function in the PRROC package. We interpreted the results according to the following rule of thumb [47]:

- AUC = 0.5 suggests no discrimination,
- 0.5 < AUC < 0.7 is considered poor discrimination,
- $0.7 \le AUC < 0.8$ is considered acceptable discrimination,
- $0.8 \le AUC < 0.9$ is considered excellent discrimination,
- $AUC \ge 0.9$ is considered outstanding discrimination.

Results

Sample

A total of 19,931 people participated in NHANES 2011–2014—mean age (standard deviation) 31.4 (24.5) y.o., 10,072 women. Among them, 6722 participants—47.7 (17.2) y.o., 3276 women—were included in the present study. The 13,209 excluded subjects were 23.2 (23.5) y.o., 6796 women. Data to compute the FRAIL scale scores were available for 6,480 of them—47.0 (17.1) y.o., 3159 women; on the other hand, data to assess the frailty phenotype were available for 3906 of them—56.8 (15.4) y.o., 1952 women. Both the FRAIL scale and the frailty phenotype were computed for 3664 subjects. Table 1 describes the overall, Frail scale, and Fried phenotype samples.

Table 2 shows the confusion matrix for the FRAIL scale and the frailty phenotype for people in the sample 50 years old and older.

Table 2 Confusion matrix between the outcomes of apply-
ing the FRAIL scale and the Fried phenotype, as defined in
the methods section, to the subset of people 50 years old
and older in our overall sample

Fried phenotype	FRAIL scale		
	Robust	Prefrail	Frail
Robust	1171	210	0
Prefrail	564	641	44
Frail	0	66	53

Fractal-like behavior

The population represented by the participants with the FRAIL scale assessed showed $R^2 = 0.9865$ (0.0002) with a 95% CI = (0.9861, 0.9868) and a distribution as shown in Fig. 2 (top). The scatterplot in Fig. 2 (bottom) does not show any relationships between goodness-of-fit and self-similarity scores.

The population represented by the participants with the frailty phenotype assessed showed R^2 = 0.9870 (0.0002) with a 95% CI = (0.9865, 0.9874) and a distribution as shown in Fig. 3 (top). The scatterplot in Fig. 3 (bottom) does not show any relationship between goodness-of-fit and self-similarity scores.

Table 3 shows the results for the assessment of the fractal behavior of hand movements across age groups for the overall sample and the FRAIL scale and Fried phenotype subsets. Goodness-of-fit is excellent in all of them ($R^2 > 0.98$)

Table 4 shows the results for the assessment of the fractal behavior of hand movements across levels of functional status for the FRAIL scale and the Fried phenotype subsets. Goodness-of-fit is excellent in all of them ($\mathbb{R}^2 > 0.98$).

Table 1 Descriptive statistics for the overall sample of NHANES participants included in the present study (left) as well as for the FRAIL (center) and Fried phenotype (right) subsets

	Overall sample		FRAIL scale sample		Fried phenotype sample	
	Total	≥ 65 y.o.	Total	≥ 65 y.o.	Total	≥ 65 y.o.
Sample size	6722	1326	6480	1209	3906	1279
Age	47.7 (17.2)	72.6 (5.3)	47.0 (17.1)	72.4 (5.2)	56.8 (15.4)	72.6 (5.3)
Women	3276	626	3159	569	1952	604
Robust	n/a	n/a	4307 (66.5 %)	697 (57.7%)	1389 (35.6%)	555 (43.4 %)
Prefrail	n/a	n/a	2043 (31.5%)	463 (38.3%)	2326 (59.5%)	641 (50.1%)
Frail	n/a	n/a	130 (2.0%)	49 (4.1%)	191 (4.9%)	83 (6.5%)

For each of the three samples, figures are provided for the total amount of subjects and for the subset of older adults 65 years old and older



Associations between frailty and complexity loss

Associations between frailty status and complexity loss for the overall population, regardless of age, were statistically significant for both the FRAIL scale (df = 2, Chisq = 56.966, p-value < 0.001) and the frailty phenotype (df = 2, Chisq = 68.343, p-value < 0.001). Table 5 shows the estimates of mean complexity loss for each functional level (robust, prefrail, and frail) for the two scales.

Associations between frailty status and complexity loss for people over 65 years old were statistically significant for both the FRAIL scale (df = 2, Chisq = 39.743, p-value < 0.001) and the frailty phenotype (df = 2, Chisq = 27.545, p-value < 0.001). Table 6 shows the estimates



of mean complexity loss for each frailty level (robust, prefrail, and frail) in adults 65 years old and older.

Table 7 shows the results of post-hoc pairwise comparisons of complexity loss across frailty levels; p-values are reported after applying the Bonferroni correction. Complexity loss in the robust group resulted significantly different from complexity loss in both the prefrail and frail groups. However, no differences were observed between the complexity losses in the prefrail and frail groups.

	20–49 y.o.	50–64 y.o.	65+ y.o.
Overall	$R^2 = 0.9844 (0.0004)$	$R^2 = 0.9864 (0.0004)$	$R^2 = 0.9853 (0.0004)$
	(0.9837, 0.9851)	(0.9856, 0.9872)	(0.9844, 0.9861)
FRAIL scale	$R^2 = 0.9860 (0.0002)$	$R^2 = 0.9871 (0.0004)$	$R^2 = 0.9872 (0.0004)$
	(0.9855, 0.9865)	(0.9863, 0.9879)	(0.9864, 0.9881)
Fried phenotype	$R^2 = 0.9864 (0.0004)$	$R^2 = 0.9872 (0.0004)$	$R^2 = 0.9871 (0.0004)$
	(0.9855, 0.9873)	(0.9864, 0.9880)	(0.9863, 0.9879)

Table 3 Results for the assessment of the fractal behavior of hand movements across age groups, namely, young adults (left), middle-aged adults (center) and older adults (right)

Results are reported for the overall sample (top) the FRAIL scale subset (center) and the Fried phenotype subset (bottom). Average values, standard deviations, and confidence intervals for the linearity of the log–log fluctuations of hand movements across different time scales are reported for each subset

Table 4 Results for the assessment of the fractal behavior of hand movements across different frailty levels, namely, robust (left), prefrail (center), and frail (right)

	Robust	Prefrail	Frail
FRAIL scale	$R^2 = 0.9866 (0.0002)$	$R^2 = 0.9863 (0.0003)$	$R^2 = 0.9871 (0.0012)$
	(0.9861, 0.9870)	(0.9857, 0.9868)	(0.9846, 0.9896)
Fried phenotype	$R^2 = 0.9874 (0.0003)$	$R^2 = 0.9868 (0.0004)$	$R^2 = 0.9850 (0.002)$
	(0.9867, 0.9881)	(0.9864, 0.9873)	(0.9810, 0.9890)

Results are reported for the FRAIL scale (top) and the Fried phenotype (bottom) subsets. Average values, standard deviations, and confidence intervals for the linearity of the log–log fluctuations of hand movements across different time scales are reported for each subset

Table 5 Descriptive statistics for the complexity of the fluctuations of hand movements across different frailty scores, namely, robust (left), prefrail (center), and frail (right)

Table 6 Descriptive statistics for the complexity of the fluctuations of hand movements in older adults, across different frailty scores, namely, robust (left), prefrail (center), and frail (right)

	Robust	Prefrail	Frail
FRAIL scale	0.113 (0.002)	0.122 (0.002)	0.154 (0.008)
	CI = (0.110, 0.116)	CI = (0.117, 0.127)	CI = (0.137, 0.170)
Fried pheno-	0.111 (0.002)	0.127 (0.002)	0.153 (0.009)
type	CI = (0.107, 0.115)	(0.124, 0.131)	(0.134, 0.171)

Results are reported for both the FRAIL scale (top) and the Fried phenotype (bottom) subsets. Average values, standard deviations, and confidence intervals for complexity loss are reported for each subset

Goodness of fit and predictive performance of the logistic models

Table 8 summarizes the final FRAIL model. The overall model is significant according to both a multivariable Wald test (W = 14.0, df = 2, p-value = 0.001) and an adjusted Wald test [F(2, 30) = 6.758, p-value = 0.004]. Only multimorbidity resulted statistically significant; however, we also retained complexity loss because it is the main variable in our study. Their interaction was not significant; thus, we retained the main effects model as the final FRAIL model. The probabilities estimated by this model did not fit well the probabilities observed in

Robust Prefrail Frail FRAIL scale 0.116 (0.003) 0.137 (0.004) 0.153 (0.010) CI = (0.110)CI = (0.130)CI = (0.131, 0.175)0.122) 0.145) Fried pheno-0.115 (0.003) 0.134 (0.002) 0.153 (0.009) type CI = (0.110,(0.129, 0.139)(0.133, 0.172) 0.122)

Results are reported for both the FRAIL scale (top) and the Fried phenotype (bottom) subsets. Average values, standard deviations, and confidence intervals for complexity loss are reported for each subset

the data set [F(8, 23) = 5.000, p-value = 0.001]. Accordingly, the area under the curve showed poor discrimination power (AUC = 0.62).

The final FRIED model is summarized in Table 9. The overall model is significant according to both a multivariable Wald test (W = 64.8, df = 4, p-value = 0.000) and an adjusted Wald test [F(4, 29) = 14.677, p-value = 0.000]. The coefficients of all four variables (sex, age, multimorbidity, and complexity loss) resulted statistically significant. The interactions of complexity loss with the other variables were not significant; thus, we retained the main effects model as the final FRIED model. The probabilities

ent nuncy scores, nunciy, robust vs. prenun (rent), robust vs. nun (renter), und prenun vs. nun (right)					
	Robust vs. prefrail	Robust vs. frail	Prefrail vs. frail		
FRAIL scale	t = 4.957, df = 31, p < 0.001	t = 3.359, df = 31, p = 0.002	t = 1.436, df = 31, p = 0.483		
Fried phenotype	t = 3.994, $df = 31$, $p = 0.001$	t = 3.817, $df = 31$, $p = 0.002$	t = 1.826, $df = 31$, $p = 0.232$		

Table 7 Results for the statistical differences between the complexity loss of older adults' hand movements across different frailty scores, namely, robust vs. prefrail (left), robust vs. frail (center), and prefrail vs. frail (right)

Results are reported for both the FRAIL scale (top) and the Fried phenotype (bottom) subsets

Table 8 Logistic regression model for the FRAIL scale sub-set in the older sample

	Coefficient	Std Err	t	p-value
Multimorbidity	0.300	0.119	2.513	0.018*
DALPHA ^a	5.306	3.059	1.734	0.093
Intercept	0.053	0.391	0.136	0.893

The model includes multimorbidity and complexity loss without any nonlinear transformations and no interaction terms

*Statistically significant values (p < 0.05)

^aComplexity loss

Table 9 Logistic regression model for the Fried phenotypesubset in the older sample

	Coefficient	Std Err	t	p-value
Sex	0.538	0.133	4.050	0.000*
Age	0.059	0.015	4.042	0.000*
Multimorbidity	0.384	0.085	4.531	0.000*
DALPHA ^a	5.418	1.276	4.245	0.000*
Intercept	-6.087	1.200	-5.071	0.000*

The model includes all four variables (sex, age, multimorbidity, and complexity loss) without any nonlinear transformations and no interaction terms

*Statistically significant values (p < 0.05)

^aComplexity loss

Table 10 Odds ratios for women over men, increments of 5 years in age, each additional comorbidity, and increments of 0.038 in complexity loss

	Increments	Odds ratio	95% CI
Sex	Women	1.712	(1.452, 1.972)
Age	5 Years	1.345	(1.201, 1.488)
Multimorbidity ^a	1 Disease	1.468	(1.302, 1.634)
DALPHA ^b	0.038	1.229	(1.134, 1.324)

^aMultimorbidity

^bComplexity loss

estimated by the FRIED model fitted well the probabilities observed in the data set [F(8, 24) = 0.466, p-value = 0.868] with the Archer–Lemeshow test showing high power (n = 1279; n1/n = 0.57). However, the discrimination power of the resulting classifier, although close to acceptable, remained poor (AUC = 0.69). In addition, a classifier based just on sex, age, and multimorbidity does not perform much worse (AUC = 0.67).

Finally, Table 10 shows the odds ratios for women over men, increments of five years in age, each additional comorbidity, and increments of 0.038 in complexity loss (which corresponds to the difference observed in the older population between the mean complexity-losses of the robust and the frail groups when accounting for three levels of frailty).

Discussion

In this representative sample of the US population, we have shown that the movements of the non-dominant hand follow a fractal-like behavior, and that, in older people, their complexity loss is associated in a statistically significant way with being prefrail or frail according to the frailty phenotype; the diagnostic accuracy for frailty of a model with age, sex, multimorbidity and LoC was very close to be acceptable, but this latter variable contributed very little.

The distribution of frailty for older adults in the Fried phenotype subset is consistent with the prevalence figures reported by Fried et al. [7] in their original study. However, NHANES 2011-2014 did not test for gait speed and we had to use the participants' responses to a guestionnaire entry to assess the slowness component. The said questionnaire entry showed low sensitivity, especially for people younger than 65, thus, the results for that age group are less reliable. On another level, NHANES 2011–2014 holds a very large proportion of people over 65 scoring in the low-PA component. In particular, the number of people reporting no activity at all is way over the lower quintile threshold reported by Fried et al. [7]. Consequently, our estimations for frailty prevalence in NHANES 2011–2014 resulted slightly greater than Fried et al's [7]. Our estimations for the FRAIL scale subset resulted reasonable as well. The agreement between both scales is 67.8% and no one is two categories away from his frailty score in the other scale. Frailty and prefrailty are less prevalent according to the FRAIL scale, even for the subset of older people. This result is consistent with previous comparisons [48, 49]. However, the final logistic model based on the FRAIL scale subset does not show any significant associations with age, which casts doubts

on the ability of the FRAIL scale to detect frail individuals in this sample.

The linearity of the log-log fluctuations of hand movements across different time scales is excellent (over 0.98) in both the FRAIL scale and the Fried phenotype subsets. These results suggest that hand movement fluctuations conform to a power law; which is supported by their narrow 95% CIs (0.07% and 0.09%, respectively). Therefore, hand movement fluctuations show a self-affine and scalefree nature with long-range correlations over multiple time scales. Moreover, goodness-of-fit did not show any dependencies with age, frailty level, or the value of the exponent. This means the fractal and complex nature of the process and its variability does not depend on these factors. Thus, the exponent of the corresponding power law can be used to characterize the fractal complexity of hand movements regardless of age or frailty level.

The same fractal-like behavior has been previously observed for the DFA outcomes of trunk acceleration signals recorded with wearable devices on older people's waists [35]. Li et al. studied the complexity of the fluctuations of hand movements but they did not conduct any statistical tests to assess fractal behavior in their signals. They demonstrated self-similarity by providing a visual comparison of the irregularity of the fluctuation patterns of one of their signals at different temporal scales and comparing them with the irregularities of a shuffled version of the same signal [34].

Our logistic model for the Fried phenotype subset shows significant associations between frailty and sex, age, and multimorbidity. The observed associations imply that the probability of being frail is greater for women than for men and increases with age and with the number of comorbidities. These results are consistent with the previous established knowledge in the field and, thus, supports the use of the Fried phenotype subset for the study of frailty-related issues in the NHANES 2011-2014 data set. The Fried phenotype model also shows a significant association between frailty and complexity loss after adjusting for sex, age, and multimorbidity. The observed association imply that the probability of being frail increases for larger reductions in complexity. This result is consistent with the LoC model, which states that either a noisier or a more regular behavior in physiological processes result in a decrease of system adaptability. Li et al., conducted a longitudinal follow-up study and, in the same line, they observed a statistically significant increase in the risk of becoming frail or developing a disability for individuals with less complex fluctuations of hand movements at baseline [34]. They also observed that the increased risk of frailty remained statistically significant after adjusting for age, sex, education, and multimorbidity [34]. We observed a lack of significance in an unadjusted, pairwise comparison between the prefrail and the frail groups, but a statistically significant difference between the healthy (aka robust) and non-healthy (aka prefrail and frail) groups. This result suggests that complexity loss could help to identify those in need of a therapeutical intervention but not to assess the severity of functional decline. However, the performance of the model as a binary classifier (robust vs. prefrail/frail) does not reach an acceptable level, although it gets very close (AUC = 0.69; threshold for acceptable performance = 0.70). Moreover, the small improvement in the AUC value due to complexity loss suggests that its inclusion in the model is not worth the increment in cost and effort respect to a model based on sex, age, and multimorbidity.

Other studies on the complexity of accelerometry signals from wearable devices present some methodological differences compared to the present study. Most of them assess the complexity of trunk movements instead of hand movements. Rector et al. collected signals with an accelerometer on the participants' chests [23]; Paraschiv-Ionescu et al. and Zhang et al. used an accelerometer on the participants' lower backs [33, 36]; and Raichlen et al. used an accelerometer on the participants' waists [35]. The only study we found on hand movements was Li et al.'s [34]. Paraschiv-Ionescu et al. and Zhang et al. did not assessed the complexity of time series of activity counts but the complexity of a multivariate metric based on the type, duration, and intensity of PA [33, 36]. Rector et al., Raichlen et al., and Li et al. each used epochs of different duration to compute their time series of activity counts; none of them used MIMS. Rector et al. used 4 s epochs [23]; Raichlen et al. used 1 min epochs [35]; and Li et al. used 15 s epochs [34]. Different studies have also used different complexity measurements. Paraschiv-Ionescu et al. and Zhang et al. used Lempel-Ziv complexity [33, 36]; Rector et al. used MSE [23]; while Raichlen et al. and Li et al. used DFA like we did in the present study [34, 35]. Finally, different studies have used different scales to operationalize the functional status of older adults. Zhang et al. used the Community Balance and Mobility Scale (CBMS) [36]; Rector et al. used The Older Persons and Informal Caregivers Survey-Minimal Dataset (TOPICS-MDS) [23]; while the scale in Li et al.'s work was based on the Linda Fried phenotype like we did in the present study [34]. Despite these methodological differences, all the studies found an association between the LoC in accelerometry signals from wearable devices and functional decline.



Fig. 4 Nonlinear behavior of frailty respect to the continuous variables in the FRAIL model. Frailty vs. complexity loss (top), frailty vs. age (center), and frailty vs. Multimorbidity (bottom)

The main limitation of the present study came from the fact that the original NHANES 2011-2014 wave did not include the clinical assessment of frailty. For some of the criteria in the FRAIL scale and the Fried phenotype, the data set did not include the original variables needed to score the items. Nevertheless, the variables in the data set allowed us to compute indirect estimations for those criteria. As discussed above, despite the noise added by these indirect estimations, the distribution of the resulting outcomes was consistent with the previous established knowledge in the field. Another limitation came from the cross-sectional nature of the data set; which limited the scope of our study to between-subjects differences and did not allow us to explore the ability of complexity loss to detect changes in function over time. However, the study conducted by Zhang et al. suggests that such a relationship exists since they observed an association between the changes in the complexity of their multivariate metric and functional changes measured with the CBMS [36]. On the other hand, the large size of the sample strengthens the power of our results. Finally, the main strength of the present study is the availability of accelerometry and angular velocity measures of the hand movements for a nationally-representative sample.

Conclusion

Frailty can be characterized in the NHANES 2011–2014 data set with the Fried phenotype. The movement of a person's non-dominant hand in free-living conditions is a fractal process regardless of age or frailty level and its self-similarity can be quantified with the exponent of a power law. Higher levels of complexity loss are associated with higher levels of frailty. However, the effect of this association is not strong enough to justify the use of complexity loss to detect frailty in older adults after adjusting for sex, age, and multimorbidity.

Appendix: Building the models The FRAIL model

The smoothed scatter plots for the FRAIL model in Fig. 4 show nonlinear behaviors of frailty status with both complexity loss and age.

 Table 11 Results of the univariate regressions for the continuous variables in the FRAIL model

	Coefficient	Std Err	t	p-value
DALPHA ^a	6.574	3.655	1.799	0.082
DALPHA_square ^b	65.723	38.941	1.688	0.102
Intercept	0.882	0.184	4.70	0.000*
DALPHA ^a	6.403	3.064	2.090	0.045*
Intercept	0.222	0.412	0.539	0.594
Age	0.029	0.029	0.999	0.326
Age_square ^c	0.009	0.007	1.261	0.218
Intercept	0.843	0.216	3.904	0.001*
Age	0.034	0.027	1.255	0.219
Intercept	-1.429	1.975	-0.723	0.475
Multimorbidity	0.345	0.115	2.985	0.000*
Intercept	0.695	0.152	4.568	0.000*

*Statistically significant values (p < 0.05)

^aComplexity loss

^bQuadratic term for complexity loss

^cQuadratic term for age

Both complexity loss and age were initially modeled by fitting quadratic and linear terms for each of them after centering the variables. Both the quadratic and linear terms resulted non-significant for age. In contrast, a linear model for complexity loss (DALPHA) was statistically significant. The addition of the quadratic term (DALPHA_square) resulted in non-significant coefficients. According to the smoothed scatterplot, only a linear model was fit for multimorbidity. The corresponding coefficient resulted statistically significant. The results of all these models are summarized in Table 11.

Table 12 shows the results for a FRAIL model comprising sex, age, and multimorbidity as covariates. Only multimorbidity showed a significant coefficient. The addition of a quadratic term for age did not result in any significant changes in the model.

Table 13 shows the results for a FRAIL model comprising sex, age, multimorbidity, and complexity loss as covariates. Multimorbidity remains the only significant term in the model.

Finally, Table 14 shows the results for a FRAIL model excluding the variables age and sex that were not significant. The coefficients for complexity loss and multimorbidity varied by less than a 10%; multimorbidity maintained its statistical significance and complexity loss remained non-significant. Adding a quadratic term for complexity loss did not result in a significant coefficient.

Table 12	Results of an int	ermediate FRAIL	model compris-
ing the ef	fects sex, age, an	nd multimorbidit	v

	Coefficient	Std Err	t	p-value
Sex	0.454	0.285	1.592	0.123
Age	0.029	0.026	1.117	0.274
Multimorbidity	0.331	0.116	2.846	0.008*
Intercept	-2.116	1.800	-1.175	0.250
Sex	0.440	0.290	1.516	0.141
Age	0.024	0.028	0.877	0.388
Age _square ^a	0.009	0.007	1.188	0.245
Multimorbidity	0.331	0.115	2.888	0.008*
Intercept	-0.165	0.462	-0.358	0.723

*Statistically significant values (p < 0.05)

^aQuadratic term from age

Table 13 Results of an intermediate FRAIL model comprising the effects sex, age, multimorbidity, and complexity loss

	Coefficient	Std Err	t	p-value
Sex	0.464	0.295	1.575	0.127
Age	0.024	0.028	0.855	0.400
Multimorbidity	0.292	0.121	2.418	0.023*
DALPHA ^a	5.158	3.120	1.654	0.110
Intercept	-2.387	1.842	-1.296	0.206
Sex	0.483	0.291	1.657	0.110
Age	0.028	0.029	0.975	0.338
Multimorbidity	0.314	0.129	2.435	0.022*
DALPHA ^a	4.966	3.887	1.278	0.213
DALPHA_square ^b	74.239	38.016	1.953	0.062
Intercept	-2.220	1.961	-1.132	0.268

*Statistically significant values (p < 0.05)

^aComplexity loss

^bQuadratic term for complexity loss

Table 14 Results of two FRAIL models comprising the effects multimorbidity and complexity loss

	Coefficient	Std Err	t	p-value
Multimorbidity	0.300	0.119	2.513	0.018*
DALPHA ^a	5.306	3.059	1.734	0.093
Intercept	0.053	0.391	0.136	0.893
Multimorbidity	0.316	0.125	2.529	0.017*
DALPHA ^a	5.299	3.736	1.418	0.167
DALPHA_square ^b	70.363	39.425	1.785	0.085
Intercept	0.542	0.211	2.562	0.016*

*Statistically significant values (p < 0.05)

^aComplexity loss

^bQuadratic term for complexity loss



Fig. 5 Nonlinear behavior of frailty respect to the continuous variables in the FRIED model. Frailty vs. complexity loss (top), frailty vs. age (center), and frailty vs. multimorbidity (bottom)

The interaction between multimorbidity and complexity loss resulted non-significant (coefficient = 4.629, std err = 2.449, t = 1.890, p-value = 0.069).

The FRIED model

The smoothed scatter plots for the FRIED model in Fig. 5 show nearly linear behavior for complexity loss. However, the age and multimorbidity smoothed scatter plot suggest that a nonlinear transformation might be appropriate.

Both complexity loss and multimorbidity were initially modelled with a linear term. A univariable linear model for multimorbidity was fit and was statistically significant. Three additional models were fit with different nonlinear transformations of multimorbidity, one for a logarithmic transformation, a second one for a transformation of the form 1 - 1/multimorbidity (both statistically significant), and another one comprising a spline with a knot at 4, where only the coefficient below 4 was significant. The AIC resulted lower in the linear model (1715.657 vs. 1720.248 vs. 1727.860 vs. 1717.615, respectively). The value of t was more extreme for the linear model as well (see Table 15). The linear model for multimorbidity was retained. Age was initially modeled with a linear and guadratic model. The linear term resulted statistically significant but the quadratic term did not, although the quadratic model resulted in a lower value of the AIC (1734.774 vs. 1736.533). The linear model for age was retained. The results of these four models are summarized in Table 15.

Table 16 shows the results for an intermediate FRIED model comprising sex and age as covariates. The coefficients for both sex and age were statistically significant. Adding a quadratic term for age kept sex and age significant; but the quadratic term was not significant.

Table 17 shows the results for another intermediate FRIED model comprising sex and age and adding multimorbidity to the set of covariates. The coefficients for all three covariates (sex, age, and multimorbidity) were statistically significant and the addition of multimorbidity showed a confounding effect on sex. Adding a quadratic term for age did not result statistically significant.

Table 18 shows the results for a complete FRIED model comprising sex, age, multimorbidity, and complexity loss as covariates. The coefficients for all four covariates (sex, age, multimorbidity, and complexity

 Table 15 Results of the univariate regressions for the continuous variables in the FRIED model

	Coefficient	Std Err	t	p-value
DALPHA ^a	6.810	1.342	5.075	0.000*
Intercept	-0.790	0.203	-3.900	0.000*
Age	0.066	0.015	4.291	0.000*
Age_square ^b	0.005	0.003	1.835	0.076
Intercept	-0.049	0.121	-0.407	0.687
Multimorbidity	0.415	0.086	4.825	0.000*
Intercept	-0.341	0.133	-2.558	0.016*
log(Multimorb ^c)	0.824	0.177	4.648	0.000*
Intercept	-0.391	0.145	-2.702	0.011*
1 — 1⁄Multimorb ^c	1.299	0.300	4.331	0.000*
Intercept	-0.392	0.150	-2.620	0.014*
Morb.ns1 ^d	3.297	0.867	3.804	0.001*
Morb.ns2 ^e	1.959	1.277	1.534	0.136
Intercept	-0.335	0.137	-2.448	0.020*

*Statistically significant values (p < 0.05)

^aComplexity loss

^bQuadratic term for age

^cMultimorbidity

^dCoefficient of the spline below the knot at 4

^eCoefficient of the spline above the knot at 4

Table 16 Results of an intermediate FRIED model comprising the effects of sex and age

	Coefficient	Std Err	t	p-value
Sex	0.445	1.328	3.346	0.002*
Age	0.068	0.016	4.336	0.000*
Intercept	-5.505	1.248	-4.413	0.000*
Sex	0.437	0.136	3.208	0.003*
Age	0.066	0.016	4.225	0.000*
Age_square ^a	0.005	0.003	1.637	0.112
Intercept	-0.696	0.257	-2.712	0.011*

*Statistically significant values (p < 0.05)

^aQuadratic term for age

 Table 17 Results of an intermediate FRIED model comprising the effects of sex, age, and multimorbidity

	Coefficient	Std Err	t	p-value
Sex	0.540	0.136	3.975	0.000*
Age	0.062	0.015	4.081	0.000*
Multimorbidity	0.422	0.084	5.049	0.000*
Intercept	-5.676	1.208	-4.697	0.000*
Sex	0.533	0.139	3.827	0.001*
Age	0.060	0.016	3.892	0.001*
Age _square ^a	0.006	0.003	1.774	0.087
Multimorbidity	0.428	0.085	5.058	0.000*
Intercept	-1.292	0.302	-4.273	0.000*

*Statistically significant values (p < 0.05)

^aQuadratic term for age

	Coefficient	Std Err	t	p-value
Sex	0.538	0.133	4.050	0.000*
Age	0.059	0.015	4.042	0.000*
Multimorbidity	0.384	0.085	4.531	0.000*
DALPHAª	5.418	1.276	4.245	0.000*
Intercept	-6.087	1.200	-5.071	0.000*
Sex	0.531	0.136	3.902	0.001*
Age	0.057	0.015	3.831	0.001*
Age_square ^b	0.006	0.003	1.789	0.085
Multimorbidity	0.390	0.086	4.548	0.000*
DALPHA ^a	5.453	1.279	4.263	0.000*
Intercept	-1.945	0.383	-5.078	0.000*

*Statistically significant values (p < 0.05)

^aComplexity loss

^bQuadratic term for age

Table 19 Results of a complete FRIED model comprising the effects of sex, age, multimorbidity, complexity loss and their interaction terms

	Coefficient	Std Err	t	p-value
Sex	0.542	0.132	4.090	0.000*
Age	0.058	0.015	3.959	0.001*
Multimorbidity	0.389	0.086	4.519	0.000*
DALPHA ^a	11.236	3.684	3.050	0.005*
Sex \times DALPHA ^a	-3.945	2.418	-1.632	0.115
Age 🗙 DALPHAª	-0.036	0.277	-0.131	0.897
morb ^b × DALPHAª	-0.633	1.224	-0.517	0.610
Intercept	-0.735	0.234	-3.147	0.004*

*Statistically significant values (p < 0.05)

^aComplexity loss

^bMultimorbidity

loss) were statistically significant. Adding a quadratic term for age did not result statistically significant.

Table 19 shows the results for the interaction terms in the FRIED model. None of the interaction terms is statistically significant.

Author Contributions

All authors contributed to the conception of the project and to funding acquisition. The study design, data preprocessing and analysis were performed by AC and ÁR-L. The first draft of the manuscript was written by AC and ÁR-L and all authors commented on previous versions of the manuscript. All authors read and approved the final manuscript.

Funding

Open Access funding provided thanks to the CRUE-CSIC agreement with Springer Nature. This research is part of the ActiveUp Project (Grant Number

PID2019-108408RB-C21) funded by MICIN/AEI/10.13039/501100011033, the COVIDTECH-CM Project funded by Comunidad de Madrid and the European Union via the European Fund for Regional Development as part of the Union's response to the COVID-19 Pandemic, and was supported by CIBER—Consorcio Centro de Investigación Biomédica en Red—(CB06/01/0051), Instituto de Salud Carlos III, Ministerio de Ciencia e Innovación.

Declarations

Conflict of interest

The authors have no competing interests to declare that are relevant to the content of this article.

Ethical approval

This is a retrospective study of anonymized data in the public domain, and no ethical approval was required.

Author details

¹Centre for Biomedical Technology, Universidad Politécnica de Madrid, Autopista M-40 km. 38, 28223 Pozuelo de Alarcón, Madrid, Spain. ²CIBER de Bioingeniería, Biomateriales y Nanomedicina, Instituto de Salud Carlos III, Avda. Monforte de Lemos, 28029 Madrid, Madrid, Spain. ³CIBER de Fragilidad y Envejecimiento Saludable, Instituto de Salud Carlos III, Avda. Monforte de Lemos, 28029 Madrid, Madrid, Spain. ⁴Fundación para la Investigación Biomédica, Hospital Universitario de Getafe, Ctra. Madrid-Toledo km. 12.5, 28905 Getafe, Madrid, Spain. ⁵Department of Signal Theory, Communications, Telematics, and Computing, Universidad Rey Juan Carlos, Camino del Molino, 5, 28942 Fuenlabrada, Madrid, Spain. ⁶Geriatrics Department, Hospital Universitario de Getafe, Ctra. Madrid-Toledo km. 12.5, 28905 Getafe, Madrid, Spain.

Received: 16 December 2022 Accepted: 2 June 2023 Published: 27 June 2023

References

- World Bank Open Data. Survival to age 65, female (% of cohort)—European Union data. World Bank; 2020. https://data.worldbank.org/indic ator/SP.DYN.TO65.FE.ZS?locations=EU. Accessed 20 Oct 2021.
- World Bank Open Data. Survival to age 65, male (% of cohort)—European Union Data. World Bank; 2020. https://data.worldbank.org/indicator/SP. DYN.TO65.MA.ZS?locations=EU. Accessed 20 Oct 2021.
- Eurostat. Mortality and life expectancy statistics. 2020. https://ec.europa. eu/eurostat/statistics-explained/index.php?title=Mortality_and_life_ expectancy_statistics. Accessed 20 Oct 2021.
- Beard JR, Officer A, de Carvalho IA, Sadana R, Pot AM, Michel J-P, et al. The world report on ageing and health: a policy framework for healthy ageing. Lancet. 2016;387:2145–54. https://doi.org/10.1016/S0140-6736(15) 00516-4.
- World Bank Open Data. Population ages 65 and above, total—European Union Data. World Bank; 2020. https://data.worldbank.org/indicator/SP. POP.65UP.TO?locations=EU. Accessed 20 Oct 2021.
- World Bank Open Data. Population ages 65 and above (% of total population)—European Union Data. World Bank; 2020. https://data.worldbank. org/indicator/SP.POP.65UP.TO.ZS?locations=EU. Accessed 20 Oct 2021.
- Fried LP, Tangen CM, Walston J, Newman AB, Hirsch C, Gottdiener J, et al. Frailty in older adults evidence for a phenotype. J Gerontol A. 2001;56:M146-57. https://doi.org/10.1093/gerona/56.3.M146.
- Clegg A, Young J, Iliffe S, Rikkert MO, Rockwood K. Frailty in elderly people. Lancet. 2013;381:752–62. https://doi.org/10.1016/S0140-6736(12) 62167-9.
- Kojima G. Frailty as a predictor of disabilities among community-dwelling older people: a systematic review and meta-analysis. Disabil Rehabil. 2017;39:1897–908. https://doi.org/10.1080/09638288.2016.1212282.
- Campbell AJ, Buchner DM. Unstable disability and the fluctuations of frailty. Age Ageing. 1997;26:315–8. https://doi.org/10.1093/ageing/26.4. 315.
- Rockwood K, Hogan DB, MacKnight C. Conceptualisation and measurement of frailty in elderly people. Drugs Aging. 2000;17:295–302. https:// doi.org/10.2165/00002512-200017040-00005.

- 12. Walston J, Fried LP. Frailty and the older man. Med Clin N Am. 1999;83:1173–94. https://doi.org/10.1016/S0025-7125(05)70157-7.
- Figueroa JF, Maddox KEJ, Beaulieu N, Wild CR, Jha KA. Concentration of potentially preventable spending among high-cost Medicare subpopulations. Ann Intern Med. 2017;167:706–13. https://doi.org/10.7326/ M17-0767.
- Rodríguez-Laso Á, Caballero Mora MA, García Sánchez I. Updated state of the art report on the prevention and management of frailty. 2019. https://www.advantageja.eu/images/SoAR-AdvantageJA_Fulltext.pdf. Accessed 12 May 2022.
- Morley JE, Malmstrom TK, Miller DK. A simple frailty questionnaire (FRAIL) predicts outcomes in middle aged African Americans. J Nutr Health Aging. 2012;16:601–8. https://doi.org/10.1007/s12603-012-0084-2.
- Cesari M, Vellas B, Hsu F-C, Newman AB, Doss H, King AC, et al. A physical activity intervention to treat the frailty syndrome in older persons-results from the LIFE-P Study. J Gerontol A. 2015;70:216–22. https://doi.org/10. 1093/gerona/glu099.
- 17. Rodriguez-Mañas L, Fried LP. Frailty in the clinical scenario. Lancet. 2015;385:e7-9. https://doi.org/10.1016/S0140-6736(14)61595-6.
- Fairhall N, Langron C, Sherrington C, Lord SR, Kurrle SE, Lockwood K, et al. Treating frailty—a practical guide. BMC Med. 2011;9:83. https://doi.org/ 10.1186/1741-7015-9-83.
- Pollack LR, Litwack-Harrison S, Cawthon PM, Ensrud K, Lane NE, Barrett-Connor E, et al. Patterns and predictors of frailty transitions in older men: the osteoporotic fractures in men study. J Am Geriatr Soc. 2017;65:2473– 9. https://doi.org/10.1111/jgs.15003.
- Ko FC-Y. The clinical care of frail older adults. Clin Geriatr Med. 2011;27:89– 100. https://doi.org/10.1016/j.cger.2010.08.007.
- Ghachem A, Fried LP, Legault V, Bandeen-Roche K, Presse N, Gaudreau P, et al. Evidence from two cohorts for the frailty syndrome as an emergent state of parallel dysregulation in multiple physiological systems. Biogerontology. 2021;22:63–79. https://doi.org/10.1007/ s10522-020-09903-w.
- Lipsitz LA. Physiological complexity, aging, and the path to frailty. Sci Aging Knowl Environ. 2004;2004:pe16. https://doi.org/10.1126/sageke. 2004.16.pe16.
- Rector JL, Gijzel SMW, van de Leemput IA, van Meulen FB, Olde Rikkert MGM, Melis RJF. Dynamical indicators of resilience from physiological time series in geriatric inpatients: lessons learned. Exp Gerontol. 2021;149:111341. https://doi.org/10.1016/j.exger.2021.111341.
- Goldberger AL, Amaral LAN, Hausdorff JM, Ivanov PC, Peng C-K, Stanley HE. Fractal dynamics in physiology: alterations with disease and aging. Proc Natl Acad Sci USA. 2002;99:2466–72. https://doi.org/10.1073/pnas. 012579499.
- Yang X, Wang Z, He A, Wang J. Identification of healthy and pathological heartbeat dynamics based on ECG-waveform using multifractal spectrum. Physica A. 2020;559:125021. https://doi.org/10.1016/j.physa.2020. 125021.
- Kaplan DT, Furman MI, Pincus SM, Ryan SM, Lipsitz LA, Goldberger AL. Aging and the complexity of cardiovascular dynamics. Biophys J. 1991;59:945–9. https://doi.org/10.1016/S0006-3495(91)82309-8.
- Peng C-K, Mietus JE, Liu Y, Lee C, Hausdorff JM, Stanley HE, et al. Quantifying fractal dynamics of human respiration: age and gender effects. Ann Biomed Eng. 2002;30:683–92. https://doi.org/10.1114/1.1481053.
- Hausdorff JM, Mitchell SL, Firtion R, Peng CK, Cudkowicz ME, Wei JY, et al. Altered fractal dynamics of gait: reduced stride-interval correlations with aging and Huntington's disease. J Appl Physiol. 1997;82:262–9. https:// doi.org/10.1152/jappl.1997.82.1.262.
- Collins JJ, De Luca CJ, Burrows A, Lipsitz LA. Age-related changes in open-loop and closed-loop postural control mechanisms. Exp Brain Res. 1995;104:480–92. https://doi.org/10.1007/BF00231982.
- Manor B, Costa MD, Hu K, Newton E, Starobinets O, Kang HG, et al. Physiological complexity and system adaptability: evidence from postural control dynamics of older adults. J Appl Physiol. 2010;109:1786–91. https:// doi.org/10.1152/japplphysiol.00390.2010.
- Ho KKL, Moody GB, Peng C-K, Mietus JE, Larson MG, Levy D, et al. Predicting survival in heart failure case and control subjects by use of fully automated methods for deriving nonlinear and conventional indices of heart rate dynamics. Circulation. 1997;96:842-y8. https://doi.org/10.1161/ 01.CIR.96.3.842.

- Hausdorff JM, Rios DA, Edelberg HK. Gait variability and fall risk in community-living older adults: a 1-year prospective study. Arch Phys Med Rehabil. 2001;82:1050–6. https://doi.org/10.1053/apmr.2001.24893.
- Paraschiv-lonescu A, Büla CJ, Major K, Lenoble-Hoskovec C, Krief H, El-Moufawad C, et al. Concern about falling and complexity of free-living physical activity patterns in well-functioning older adults. Gerontology. 2018;64:603–11. https://doi.org/10.1159/000490310.
- Li P, Lim ASP, Gao L, Hu C, Yu L, Bennett DA, et al. More random motor activity fluctuations predict incident frailty, disability, and mortality. Sci Transl Med. 2019;11:eaax1977. https://doi.org/10.1126/scitranslmed. aax1977.
- Raichlen DA, Klimentidis YC, Hsu C-H, Alexander GE. Fractal complexity of daily physical activity patterns differs with age over the life span and is associated with mortality in older adults. J Gerontol A. 2019;74:1461–7. https://doi.org/10.1093/gerona/gly247.
- Zhang W, Schwenk M, Mellone S, Paraschiv-Ionescu A, Vereijken B, Pijnappels M, et al. Complexity of daily physical activity is more sensitive than conventional metrics to assess functional change in younger older adults. Sensors. 2018;18:2032. https://doi.org/10.3390/s18072032.
- John D, Tang Q, Albinali F, Intille S. An open-source monitor-independent movement summary for accelerometer data processing. J Meas Phys Behav. 2019;2:268–81. https://doi.org/10.1123/jmpb.2018-0068.
- Likens AD, Stergiou N. Chapter 10—a tutorial on fractal analysis of human movements. In: Stergiou N, editor. Biomechanics and gait analysis. Academic: New York; 2020. p. 313–44. https://doi.org/10.1016/B978-0-12-813372-9.00010-5.
- West BJ. Fractal physiology and chaos in medicine. 2nd ed. Singapore: World Scientific; 2013. https://doi.org/10.1142/8577.
- 40. Centers for Disease Control and Prevention (CDC). National Center for Health Statistics (NCHS). National Health and Nutrition Examination Survey Data. Hyattsville: U.S. Department of Health and Human Services, Centers for Disease Control and Prevention; 2020. https://wwwn.cdc. gov/nchs/nhanes/continuousnhanes/default.aspx?BeginYear=2013. Accessed 10 Nov 2022.

- 41. R Core Team. R: a language and environment for statistical computing. Vienna: R Foundation for Statistical Computing; 2022. https://www.Rproject.org/. Accessed 28 Oct 2022.
- 42. Hosmer DW, Lemeshow S, Sturdivant RX. Model-building strategies and methods for logistic regression. Applied logistic regression. 3rd ed. Hoboken: Wiley; 2013. p. 89–151.
- 43. Hosmer DW, Lemeshow S, Sturdivant RX. Application of logistic regression with different sampling models. Applied logistic regression. 3rd ed. Hoboken: Wiley; 2013. p. 227–42.
- Archer KJ, Lemeshow S, Hosmer DW. Goodness-of-fit tests for logistic regression models when data are collected using a complex sampling design. Comput Stat Data Anal. 2007;51:4450–64. https://doi.org/10. 1016/j.csda.2006.07.006.
- 45. Si Y, Pritchard K. Working Version of R Code for Archer and Lemeshow GOF test. Michigan: University of Michigan; 2022. https://www.isr.umich. edu/src/smp/asda/archer_and_lemeshow_gof.txt. Accessed 20 July 2022.
- Damico A. [R] Archer–Lemeshow goodness of fit test for survey data with log. Regression. 2016. https://stat.ethz.ch/pipermail/r-help/2016-Novem ber/443223.html. Accessed 21 July 2022.
- Hosmer DW, Lemeshow S, Sturdivant RX. Assessing the fit of the model. Applied logistic regression. 3rd ed. Hoboken: Wiley; 2013. p. 153–225.
- Oviedo-Briones M, Laso ÁR, Carnicero JA, Cesari M, Grodzicki T, Gryglewska B, et al. A comparison of frailty assessment instruments in different clinical and social care settings: the Frailtools Project. J Am Med Dir Assoc. 2021;22:607.e7-607.e12. https://doi.org/10.1016/j.jamda.2020. 09.024.
- Rodríguez-Laso Á, Martín-Lesende I, Sinclair A, Sourdet S, Tosato M, Rodríguez-Mañas L. Diagnostic accuracy of the FRAIL scale plus functional measures for frailty screening: a cross-sectional study. BJGP Open. 2022;6:BJGPO.2021.0220. https://doi.org/10.3399/BJGPO.2021.0220.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.